
How to make a Black Plate 
Sensor



Contact
Priva
Zijlweg 3
2679 LC
P.O. Box 18
2679 ZG
De Lier
The Netherlands
T: +31 174 522 601
F: +31 174 522 701
www.priva.com
contact.priva@priva.nl

Version: 07.000
Date: October 2018

© Copyright Priva B.V. All rights reserved.

No part of this publication may be reproduced, published or stored in a retrieval 
system without written prior permission of Priva.

This publication has been developed with care. However, the products shown may 
differ in dimensions and design from the actual products. Priva will not accept any 
responsibility for damages caused by any errors or deficiencies in this publication. 
Priva may modify its products and the associated manuals without prior notice. Priva 
advises to check product, installation, hardware and if present software on 
irregularities.

Priva owns the patents, patent applications, trade marks or other intellectual property 
rights regarding the products described in this publication. With this publication Priva 
does not grant the use of the aforementioned intellectual property rights. Product and 
company names this publication may not be used without the permission of Priva.

Terms of delivery are applicable to the products described in this publication. The 
most recent version of these terms can be found on the web site of Priva.

Black Plate Sensor 2



Black Plate Sensor 3

Content

Page number Content

4 Introduction

5 - 6 Part list

7 – 8 Product impressions

9 - 16 Construction of components

17 – 21 Assembly of Black plate sensor

Symbol Explanation

Construction done by yourself

Required amount

Delivered by Priva

Materials from parts lists you need to source 
locally

2



Introduction

Black Plate Sensor 4

The black plate temperature sensor allows you to measure the 
temperature with the effects of sunlight, air temperature and wind. 
This measurement more closely represents the exposed 
temperature of the plants. When the retractable roof control is 
installed on your Priva process computer, this will give you an extra 
measurement to control the opening and closing of your retractable 
greenhouse.

The black plate temperature sensor consists of a black plate, a Priva 
temperature sensor, a mounting profile and some fasteners. This 
manual describes the construction and installation of the black plate 
temperature sensor.

Commissioning of this sensor and other sensors are described in 
separate process computer installation manuals that are available in 
the Priva Support Portal. For information on viewing and using the 
measurement, please refer to the process computer user manuals.



Part list 

Black Plate Sensor 5

Materials delivered by Priva

QTY Description Part Number Picture

1 Temperature Sensor 3779013

Materials to arrange by yourself
QTY Description Material Info Picture

1 Flat Plate 200x100x12 mm Z/P

4 M8x35 Hex Head set screw Z/P

4 M8 Washer Z/P

4
GRY pipe SCH 80 ND=15 

mm
PVC-U 90 mm long

1 Heat Sink Compound

1
Corner profile support 

bracket
Z/P

1
Black spray paint for

galvanized steel

1 Zinc galvinizing spray

1 M5x6 hex Head set screw Z/P

Fasteners for mounting to 

wall

Fasteners for mounting to 

pole

ZINC 
GALVINIZING

SPRAY



Black Plate Sensor

6Black Plate Sensor



Black Plate

7Black Plate Sensor

Buy Galvanized Plate 200x100x12 mm1.
200 mm

100 mm

12 mm

1



8Black Plate Sensor

Black Plate

71,5 mm

42 mm

29 mm

64,25 mm

4x Drill hole with diameter 6,8 mm, 7 mm deep
& Tap M8 thread, 5 mm deep 

Drill and Tap holes for M82.

7 mm

6,8 mm

5 mm

1



9Black Plate Sensor

Black Plate

100 mm

65 mm

Drill hole for Temperature Sensor3.

Drill 65 mm deep hole with 
a diameter of 6.5 mm

1



10Black Plate Sensor

Black Plate

Drill & Tap M5 hole to keep in place temperature sensor4.

M5 tapped hole. 4 mm deep

1

25 mm

100 mm



11Black Plate Sensor

Black Plate

Spray paint black5.

Use a Black spray paint suited for galvanized steel

1



12Black Plate Sensor

Support Bracket

Buy corner profile
Use the size which is available for you

1.

95 – 120mm 

50-100 mm

100-140 mm

5-10 mm

5-10 mm

1



13Black Plate Sensor

Support Bracket

Drill 4 holes at the top2.

42 mm

71,5 mm

4x 9 mm diameter

35-40 mm

14-35 mm

1



14Black Plate Sensor

Support Bracket

Drill 2 holes at the front
Depending on your mounting type 

3.

60-120 mm

2 holes

10-20 mm

30-50 mm

1



15Black Plate Sensor

Support Bracket

Spray holes with Zinc galvanizing spray4.

1

ZINC 
GALVINIZING

SPRAY



PVC distance bush

20 mm

PVC 15 mm Inner Diameter PVC-U Sch 80
Outside diameter 21,3 mm

Cut PVC pipe to 20 mm (4x)1.

4



17Black Plate Sensor

Assembling 

Heat sink compound in hole for 
temperature sensor

1.



18Black Plate Sensor

Assembling 

Place temperature sensor in Hole2.



19Black Plate Sensor

Assembling 

Place Loctite clear silicone waterproof sealant on the 
m5x6 screw 

3.

Loctite clear silicone 
waterproof sealant 

M5x6



20Black Plate Sensor

Assembling 

Tighten m5 bolt to keep Temperature sensor in place4.



21Black Plate Sensor

Assembling 

Place Loctite clear silicone waterproof sealant on the 
m8x35 screw 

5.

M8x35

Loctite clear silicone 
waterproof sealant 



22Black Plate Sensor

Assembling 

Mount Plate to Bracket6.

4 4 1 4 1



23Black Plate Sensor

Assembling 

OPTION 1 - Mount the sensor to a wall7a.

2



24Black Plate Sensor

Assembling 

OPTION 2 - Mount the sensor to a pole7b.


